(&gt 4)

S B kR &
. (D5 CREEA]
(BFBEAR ) [A# HR]
(B : M)
R ma®| ERER (FESDPMIR)
#AE |smm RS - 5% e REZUR
w5 (%) mamae | wer | emw | cexes (FPRIEE) apeae |omeean | meee | osem | aen
R4S 1 |HEEHRE (MEHE (A4 4,202) 50 2,101 0 ] ¢ 0 2,101 0 0 i
R4 2 |HuU MR 8 814] 50 4,407 4,407 0 0 0 0 0 0
R%.412] 3 E?ﬁﬂgﬁﬁ ggﬁﬁff’éﬁﬁ?%’?gj RY—THRER 2420 w00f 2 420| 0 0 0 2, 420 0 0 nl
Ri 42| 4 PEHEEMERAH2AS) 13,329) 50 B, 664' D 0 0 ¢ 0 0 6, 664 ul
RL418 5 [HUUMR 5, 014 50‘ 2,507 2, 507 0 0 0 0 0 0 ul‘
R3.4.20| & |BWHETERMH UARD 367 50| 183 0 0 0 0 i 183 0 ul
RI.4.21| 7 |BIHETESMN UASN 2,774 50| 1, 387 0 0 0 0 i 1, 387 0 ul
R.4 23| B8 |BHBEAREMEHGEAS 84,000 s0f 42 onnl 0 0 0 0 o 42000 0 ul
RL4.24] 8 [HVUR 8,130] 50 4 055' 4, 065 0 0 0 0 0 0 ul
Ri.4.26( 10 |4 % —F3w MERBAM B, 0%} 50 3, o45| 0 0 0 ] 0 0 3, 045 uI
ul 0 0 0 ¢ 0 0 0 *ul
ul 0 0 0 0 0 0 0 ol
oI 0 0 0 0 0 0 0 ol
uI 0 0 0 0 0 0 0 ul
ol 0 0 0 0 0 0 0 0
0| 0 0 0 i 0 0 0 0
ul 0 0 0 0 0 0 0 0
4R 135, 141 B8, 379] 10, 979 0 ¢ 0 4,521 43,570 9, 709 0




(Rftig=l 4)

A =
= & kR &
[ve5CRE#ES]
(BHIESF ) [E# FR]
(B4 M)
Sl BER . HigHE (GEHDARR)
FRE |wBR BHHYAS - Bk HHAE i*ﬁgﬂl;
i (56) BEFRR | BER sun | manex (FRRNEE auenn | puman | mEwr | sar ARR
R3.5.6| 1 (HEBEY (WEHED 4,565) 50 2,282 0 0 0 of 0 0 2,282 0 0 0
RLET 2 (HVU L% 7,998 50 3, 099] 3,999 0 0 0 0 0 0 0 0 0
R3.5.10] 3 |EESEFEHUAAHERD 9,521 50 4, 760| o 0 0 0 0 0 0 0 4, 760 0
RIS 10 4 |[HEFBEEFHE QAN 13,343 50 6,671 0 0 0 0 0 0 0 0 6,671 0
83.5.121 5 |EFEHRETHHER 3.036| 50 1,518 0 ! 0 0 9 0 ) 1,518 0 o'
RI.5.18 6 [HEHEBME 2,610 100 2,610 2,610 0 0 0 0 0 0 0 0 o|
RLE.TT| 7 |HuUY L4 9,226 sol 4,613 4,613 0 0 0 0 0 o o 0 ol
R3.5.22( 8 |BWHETEBERMA (AL 378 5o| 189 0 0 0 0 0 0 0 188 0 0
RL.E.23} 9 |HY vk 4,122 sol 2, 061 2,081 0 0 0 o 0 0 0 0 0
R3.5.24] 10 |HBWIEFRBEAKMNLGAHN 3,600 s0) 1, 800/ 0 0 0 0 0 0 0 1, 800 0 )
R3.5. 240 1 |HBIEFHEEHGAD) gd. 000 500 42,000 0 0 0 0 0 0 i 42, 000 0 0
R3.5.26] 12 | wH—pw SUHS) G, 349 ] | 3,174 0 0 0 0 a 0 0 0 3,174 0
R3.5.300 13 |H w1 wik 9,354)  s0f 4,677 4,677 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 |
0 0 0 0 0 0 0 ] 0 0 0
0 0 0 0 0 0 0 0 0 0 0
SA% 168,102 80,354 17, 960 0 0 0 0 0 2,282 45, 507 14, 605 0




(Al 4)

D =
= & & &
[ CERES]
(FHIESAM [B3# FKRI]
(BfY - ®)
falRE -] WHE (KLOHER)
#RE |ZBE REANAS - £ e BRERR
%8 £ ad EREESE
(%) WEARR | AER SR | GREER #R | RHFME | AEEAR | FBER BIER AR
R3.6.7) 1 (FRMHIEEEYE (MPHE) (A4 4,565 50 2,282 0 0 0 0 ] 0 2,282 0 0 o
R3.6.7] 2 [Hvwu | 1IN 50] 3,888 3,888 ] 0 0 0 0 0 0 0 0
R3.6.10] 3 (HEHBEMEHUED 13,313 50 6. 656 0 0 0 0 ) 0 ) ) 6. 656 0
R3.6.12| 4 |iH@EBAREDH—FK) 3,828 sof 1.914 ] C 0 0 ¢ 0 ¢ ¢ 1,614 0
R3.6. 15| 5 [HV it 7.300] 50 3, 650 3,650 0 0 0 0 ¢ 0 0 o 0
R3.6.16| 6 |rh—AAN—UEpERHQrAS/4E -586R) 33,0000 50 16.500 0 0 0 16, 500 0 0 0 0 0 b |
RA6.18| 7 |BHEREBERK(GERAHB 381 50 190 0 0 0 0 0 0 0 150 0 ¢
R3.6.21] 8 |BIEFFBRMAEASA 2,744 50 1,372 0 9 o 0 0 0 0 1,372 0 ]
R3.6.22f 9 |HWY 9, 402 50 4,701 4, 7H 0 0 0 0 0 ] 0 0 0
R3.6.25f 10 (BIEFEEHGAD 84,000 50 42, ooo| ¢ 0 0 0 0 0 0 42,000 0 0
R3.B.2B[ 11 [#H Y1) 4% 4,760 50 2. 380] 2,380 0 0 0 0 0 ) ¢ 0 0
R3.6.28f 12 |A 24— w LGRS 6. 400 50 3, 200§ 0 0 0 ¢ 0 0 0 0 3, 200 0
R3.6.28] 13 | >S4 wREBHERERAS 99, 800 50 49, s00] o 0 0 ¢ 0 0 0 0 49, 900 0
R3.6.28| 14 |h—A~S—UmEyE 88,000 50 44, 000 0 0 0 44, 000 0 o 0 0 0 ]
RS (A 54 HBEIMSAER)
R.6.290 15 o Zurr o) pmy - BT 681,626 95] 647 544 0 0 0| 647 544 6 ¢ 0 0 0 0
R3.6.30] 16 [Hw1 i 8, 924 L] | 4, 462 4,462 0 0 0 0 0 0 0 0 ol
1, 055, B20 834, 639 19, 081 0 0] 708,044 0 0 2,282 43,562 61, 670 ol




